Wed Sept 2, 2015 MATH 340, Quiz 1 Prof. V. Panferov
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Bach problem is worth 2 points. Show all your work.

1. How many linear arrangements are there of the letters A, B, C, D, E, F for which
(a) A is before B, and B is before C?
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2. A dance class consists of 22 students, of which 10 are women and 12 are men. If 5 men and 5

women are t0 be chosen and then paired off, how many results are possible?
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Please turn owver...



3. How many different paths are there from A to B that .go through the point circled in the

following lattice?
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4. Use the Binomial Theorem to show that for n > 0,



